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(d) a-b) (b-c)(c-a)

() (x* +5-3x) (x* +5+3x)
(dy T @ T 7T

(&) (x+a-ix—a+1)

(d) T @ +1g &l

01.
111.

ey
11.
21
31.
41,
51.
61.
71.
81.
91.

(c)
(a)
(e)
(@)
(d)
(b)
(b)
(&)
()

2.
12.
%2
32,
42.
52.
62.
72
82.
92.

(&)
(d)
(c)
(d)
(&
(c)
(d)
(©)
()
(d)

3.
13.
23,
33.
43.
53.
63.
73.
83.
93.

(d)
(@)
()
(b)
(d)
(<)
(a)
(&)
(d)
(5)

4.
14.
24,
34.
44,
54.
64,
74.
84.
94,

S ( Wy=HIen 31 )

6.
16.
26.
36.
46.
56.
66.
76.
86.
96.

()
(&
(@)
(d)
(o)
(d)
(6)
(©)
(e)
(c)

S
19
25,
35.
45,
55.
65.
73.
85.
95.

()
(&
(&)
(a)
(a)
(d)
(a)
(d)
(5)
(@)

(&)
()
(©
(]
(©)
(&)
(5
(©
(b)
(3]

7.
17.
2.
37.
47.
3L
67.
71.
87.
97.

(b) 102. (b) 103. (a) 104. (c) 105. (c) 106. (a) 107.
(5 112. (@) 13. (¢) 114. (@) 115. (¢) 116. (a) 117.

(d)
(d)
(d)
(d)
(a)
(&)
()
()
()
(e

8.
18.
28.
38.
48,
58,
68.
78.
88.
98.
(c) 108.
(d) 118.

()

(&)
(&)
()
(©)
(b)
()
(a)
(e)
(a)

9.

19.

29,
39,
49,
59.

69,
79.

89,

99.

() 109.

(6) 119.

(c) 10.
(@ 20.
(c) 30,
(a) 40.
(dy 50.
(6) 60.
(a4) 70.
(b) 80.
by 90.
(h) 100.
(b 110,
(c)

()
()
(B)-
(&)
(@
()
(@)
().
(c)
(@)
(©)

7

o
=S

[—y
[y

12.

A S AL o

fa T uvHi % 7 REELIGIR]]

we $ fF (Vx+V2x+6) HagR i

W g fh 2x TF g 6.

e g f - 5 o ot g R

e fF oI TR T

e § fF x + 8 0F as ague &

THA (< +2) & fyud = 3

e § fF V2 OF IR wgwe ¥ o o g E
YI-Fg9R F1 °ra i 7€t &

P(x)=x" +3 um i § S wguel 7L

L[ N2 V2 L4
?_{EX—*—E]——z ——2 =0.707.

L (L 3 V3 12
ﬁ‘[‘ﬁ“f]‘? R

3+\/5_(3+J§)X(3+JE)=(34}\/5)2 _9+2+46J2

3-V2 3=V2) (B+V2) (9-2) 7
:-1—]+ﬂ=>a=ﬂﬁiﬂb=§.
7 7 7 7
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13.

14,

15,

16.

17.

18.

19.

20.

2~ (2-1) (f D _(2-1)

=2+1-22)=(3-2V2).
(2 +1) (J§+1) 2-1  @-1 o )= )

sLa=3, b=2.
(3-1)_(fB-1)_(S3-D)_(B-1) _3+1-243)
B+ B+ (F3-1) (=D 2
=@=(2—J§).
s (@b =2-By=a=2b=-1.
(S5++3) _ (f5+43) (S5+43)
B (BB (FD)

\/(_5+\3/)_) 5+3+22\/_ (8+2J_) — (4+15).
. (a+bVT5)=(4+N1S)=>a=4,b=1.
(5+2V3) _ (5+2V3) (7-43)

(7+4J3) (7+4f) (7-4v3)

_(5+23) (7-443)
5 =(35-24+143-2013) = (11-6+3)

(a+by=(1~63) = a=11,b=~6.
(4+245) (4+2J—) 4+35) _ (4+2J5) (4+3V5)

(4-3J5)  (4-345) (4+3J_) (16-45)

_(16+30+12J548V5) _ (46+204/5) _—46 20 5
~29 =29 29

29 29 VT e
3V2-23) _(32- 2f) W3=v2) _ (V2-243)(3-2)

B B B G2

=3J6-6-6+2J6 =(5J6 -12).
s (a+bV6) = (-12+5J6) = a=-12, b =S5.

(-5 (- f) B=5) _(3-+5)?
(3+5) (3+J’) G-J5) (9-5)
_(9+5-6V5) _ (14-635) _ (71-35)
- 4 - ST
_Q- 3x2 236) _ (7-6-708) _0-292
2 g
{H (f+f) (5-3) _ (5 +3) +(S5-V3)
xJ 543y (I+I) (5-3)
_2A5+3)
==

=0-146.
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1 3
=>[x+—] =83 =512
X

=>[x3+i3]+3x-l[x+l]=512
X X X

=>x3+LJ+3xl><8=512={x3 +L]=(512—24)=488.
X e

1 L - V3 @2-J3)
21, — : 2-43
< 2+dB) (- Sy @-3) =),
[x+—] 2+V3)+ (2~ =4
3
=>[x+l] =64=>x3+i3+3x-l[x+l]=64
X X X X
=>x3+L3+3x4=64=>x3+L3=52.
X X
S (7+3J_) (- «/’) (7- 3J‘) (3+:5)

(3+45) G5 G-V (+5)
_0+35)(3-V5) | (1-3J5) 3+5)

(9-5) (9-5)
_1-75+9J5-15) . (21+7J5-9/5-15)
4 4

_(6+245) (6-245) _ (6724/5)+ (6-2V5) _

4 3z, - 4

WB3+V2) (B+V2) B-VD) (B-V2)

23, fen o =gs= =

(3-2) (-2)
=2(3+2) = (2x5)=10.
24. foEXx/5=\/25—Xfx\/gx~2
=572 %642 = (30%x2) = 60.
25. 20x/45 =Jax5 x Joxs5
=25%34/5 = (2x3x5) = 30.
26. /20 +~/80 ++/45 — /180
=45 % J16%5 + V9ox5 - /365
=2«/§+4«/§+3«/§—6«E=9«/§—6J§=3«/§.
1
7. 25y 1= - = ]]: 11 ='il=i.
st R ) S

3 2 (3)-:3}
28, 2N =3 =3 /=379,

VD) () (Ji+f) B
(xﬁ+x/_) (J_ J2)? = (S + (32

12

L3,
4
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29.

30.

31.

32.

33.
34,

35.

36.

37

~1

38.

39.

40.

Z 3 !/?_xé\'
(16)2 = (4°)2 Y N B

g E [4x-§J
@D* =(3")* =3\ */=3’=27,

L SN
@8 F =@ =3 1 =3

1 1 x( 1)
(64)_5:(82)—5=8{ 2} =g =
Y216 = Y6x6x6 = 6.

327 =3 i w o TEen
2,3, 6% ToHo =6,
mmﬁmsﬁwﬁﬂwﬁw:

1

J3= 32 —(33)6 —(27)6

OO]P-—-

= 33—(3 )6 (9)6,

et e = (19)5. l
e fFE TR (27)8 wuig V3 wed w9t e E

X X X

- 3
£x+—1-] =2’ =>[:c3 +—13—]+3x-l[x+lJ=8
X x x X

l
:>x3+L3+3><2=8:>x3+—3—=2.

=2 +—13+3x-l(x+lJ=3~f§
pa

x T

=X +L+3J_ 3\/_=>[x +L]=O

X X

\

X

82
[x2+—1-2—]=102:x2+i2—2»=100:[x——1-J =(10) =>(x——
X

1 1Y = ol , 1
x+_J=3=-_> Xt— ) =9 xT+—+2=9=2x" +—5=(9-2)=17.
X

1]:10.
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4
x4 X

41. (x“ +'_1_J=322 = [x4 PRI 2]:324

X

2 l 1 : 2 1
=x +—-2=l6=|x-—| =4 =2x-—|=4
x X x

1y 1 1
42. (x+—] =(,‘r3 +—3J+3[I+—]
X X x

1Y 1
=>(X2+—2] =(18)2=>x2+—2—=18
X

=>[x+—1—] —3(x+l]:52=>y3—3y=52, L] [x—£]=y

X

o (5l
=[] (k)

=>(x——1—] +3(x—l]=l4=>y3+3y—14=0, el (x——
X x

=>y=2=>[x—l]=2.

X

X X X X

2
44. (2x~3J=5=>[2x—3] =52=>4x2+~95—2x2xx3=25

=4x° +%~—l2=25:¢4x2 +%=37
X X

1Y 3
= (2x)* +(—] +2%2xX==37+12=49
X

X
2

=>[2x+éj =7? :>(2x+—3—J=7

X X

:(4 2 —%}[2x+3][2x—ij=(7x5)=35.
X X X

45. (a* +b*)=(a+b) —2ab=(7)* —-2x12 = (49-24) = 25.
46. (@*+b°)=(a+b) -3ab(a+h)
=(7) —3x6x7 =(343-126) = 217.
47. (a—b)* =(a+b)! —dab=(5 -4x6=(25-24)=1= (a-b) = 1.
(@ =) =(a-b) +3ab(a-b) =1 +3x6x1=19.
48. (a+b+c)=0=3(a+b+c)’ =0
=+t + —3abe=0=a’ +b° + ¢ =3abe.
49. (a+b+c)=0= 4" +b° +c° =3abe

1]=y
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50.

51.

52,

53.

54.

55,

56.

57.

58.
59,

60.

ol.

62,

63.

a b ¢ at Bt
S —t—F—=3=—+—+—=3.
abe abec abe be ac ab

(@ +b 4+ =3abcy=(a+b+c) (a* +b* +¢* —ab—bc—ca)

=(a+b+c)-[(a+b+c)2 —3(ab+bc+ca)]

=9x[ (9)* ~3x23 | = 9x([81- 69] = (9x12) = 108

A f(x) = x* +3ax-2a. @@, f(2)=0.
L2 43ax2-2a=0=4+6a~2a=0=>4a=-4=a=-1.
AT f(x)= x> +6x° +4x+k @&, f(-2)=0.
o (=2 +6%(-2) +4%(—2)+hk=0=-8+24-8+k=0=k=—8.
HA f(x)=x" —5x° +4k. @&, f(-2)=0.
(2P (-2 + 4k =0=>-8-20+4k=0=4k=28= k=7
T f(x0) =5 +x" +k 1, f(-1)=0.
(=D (P k=0 - 1+k=0= k=0,
A f()=x +3x% +4x+k. 78, f(~6)=0.
s (=6 +3%x(=6) 2 +4x(—6)+k=0
=-216+108—-24+k=0= k=132.
T f(x)=( k). 7@, f{1)=0.
AP k=0=k=1
A f(x)=x" +10x> +mx+n 78, f(1)=0 a1 /(-2)=0.
fD=0=P +13x +mxl+n=0=m+n=~11.
f(=2)=0= —8+10x(-2)* +mx(-2)+n=0=2m-n=32 .
TREA DA W : m=7q n=— 8.
IfF f(-2)=0 % & f(x) ¥ TH THETS (x+2) ¥
A f(x)=3x3+x2—121—4.
-l =N 1 =0 .
GEA f[—3—]=3x—27—+§—12x—3——4*0.
3M: f{x) I T TGS (3x + 1) B
oM S0 =x"—6x+7.
&, f(-D=(-1) —6x(=1)+7=(~1+6+T)=12.
ad: (x° ~6x+7) B (x+ 1) W 9 A W ATEA = 2.
WA f(x) =55 +5x> ~6x+9.
SO B (x + 3) | WM 37 WIANH = £(-3).
L UEEA = £(-3)
=5%(=3)’ +5%(=3)* —6x(-3)+9
=5%(2N+45+18+9=-135+72=-63.

2x+3=0=>x::3—.

o f(x) B (20 +3) | YA W W ITEA =f[_?3}
x+]1=0=x=-].

SO =0 HD H o+ DA AW

Swwe = f(-1) = (- +1=(=1+1)=0.
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64.

65.
66.
67.
68.
69.

70.
71.

72.
73.

74.
75.

76.
77.

78.

79.
80.
81.
82.

83,
. x—64 x* = x(1-64 x*) = x(1-8x) (1 + 8x).
85.

2x+1=0:>x=:2£.
f(x)=2x"+5x" —4x—6 B (2x+ 1) A WA W :
IvES =1 -_2—1

(3] (3] ()

(-1) | -1

=2x——+5x—+2—6=--—+—5-+2—6
8 4 4

=(1+2-6)=-3.

Tt quisnl 2 & faw (" —a") WA (x — @) | Toidan favea g 2.
Ife n UF THEEN &, @ (x" —a") W (x + o) § Toid fawE grm
ﬂﬁn@ﬁﬁqm%,?ﬁ {(x"+a™) 'Héa(x+a)ﬁw%qaﬂm.
(x" +a") i oF (x — o) F favem == 7,

(a+b)Y =a® +b* +3ab (a+b).

s = 27400 (x4 3) =5 +9x? +27x +27.

A x T IO = 27.
a+bte=0=a +b +c’ -3abc=0=>a" +b” +c° =3abc.
p(x)=0= 2" -3x=0=x(x-3)=0= x=0 Ay x=3.

2 2 -2 1 ! -1
p)=0=23x"-1=0=3x"=l=x :gzsz—\giﬂﬂ?ﬂ—ﬁ.
107x93 = (100 +7) (100-7)

= (100)? = 7% = (10000 — 49) = 9951.
(370)° —(369)" = (370+369)x (370 - 369) = (739x) = 739.
(305x308) = (300 +5)x 308
= (300% 308) + 5x308 = 92400 + 1540 = 93940.
az+b—ab—a=(a2—ab)—a+b

=ala-by—(a-b)=(a-5b) (a~1).
ala+b-c)—be=a’ +ab—ac—be

=a(a+by—cla+by=(a+b)(a-c).
ala—2b—c)+2bc=a® —2ab—ac+2bc

=ala—c)-2b(a~c)=(a—~c)(a-2b).

2x(1—4y)—(1—4y) = (1-4y) 2x—1).
a(@a-1)—bb-D=a>—ag-b +b=(a’ -b")—(a-b) =(a=b) (a+b-]).
a~b-a’ +b =(a-b)-(a’ -b*)=(a-b)[1-(a+b)]=(a-b) (1-a—b).
1+2ab~a® ~b% =1—(a® +b* =2ab) =1 —(a~b)?

=(l+a-byQ-a+5h).
20x? —45=5(4x> ~9)=5(2x =3} (2x+3).

a’ - b ~dac+4c? =(a’ +4c? —4acy-b* =(a-2c)’ ~b?
=(a—2c+b)(a-2¢c-b).
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86.
87.
88,
89,

90.
91.
92.
93.

94,

9s.

96.

97.

98.

99,

100.

101.

102.

103,

104.

105.

106,

3x — 48 x = 3x(x? ~16) = 3x(x - 4) (x+4).
2-50 x% =2(1-25x2) = 2(1-5x) (1 + 5x).
8ab® —18a° = 2a(4b® —9a*) = 2a(2b - 3a)(2b +3a).
(a+b)’ —a—b=(a+b) ~(a+b)=(a+b)[(a+5) -1]
=(a+b)(@a+b-D(a+b+1).
(150~ 6x2) = 6(25—x*) = 6(3— x) (5+ x).
at+b-ab—a=a’—ab—a+b=ala-b)~(a-b)=(a-b) (a-1).
(2x=3)? —Bx+12=(2x-3)2 —4(2x—3) = (2x=3) (2x—3—-4) = (2x-3) (2x - 7).
(Ba-1? -6a+2=Ba-1)* -2(3a~1) = Ba-1[Ba-1)-2]
=Ba-1)Ba-3)=303a-1)(a-1).
ab(x® + y*)Y-xp (2 +5%)
= abx® + aby? —azxy—blxy = (abx2 —.sz""xy)+(‘mfuy2 —bzxyj
= ax(bx ~ay)+by (ay — bx) = ax(bx —ay) - by(bx — ay)
= (bx—ay) (ax—by).
2 —(ag+byx+ab=x*—ax—bx+ab
=x{(x—a)-b(x~a)y=(x—a) (x-5).
(a.r+by)2 +(ch—ay)2 =a'x +b2y2 +2ab):y+bz):2 +a2y2 —2abxy
=(alx2 +c12y2)+(b212 +£J2yl)=ag(x2 + P2+ 0
=2+ (@ +6) = (@ + ) (P +ph).
x?+5x-24=x? +8x-3x-24
= x(x+8)=3(x+8) = (x+8) (x-3).
xt—dx-21=x*—7x+3x-2)
=x(x—-N+3x-TN=(x~-7)(x+3).
6x  +7x—3=6x"+9x-2x-3
=3xQ2x+3)-2x+3)=02x+3)HB3x-1).
%% —x—21=2x% =~ Tx+6x-21
=x(2x=N+302x-7)=2x=T) (x+3).
=X —x+6=—x"—3x+2x+6
=—x(x+N+2(x+3N=(x+3)(2-x).
2xt—x—21=2x"~Tx+6x-2]
=x(2x -7 +32x-N=2x~T) (x+3).
2x¢ +3\/5x‘+3 =2x° +2\/§x+ S3x+3
=2x(x+3) + 30+ 3) = (x +3) (2x +3).
2 43+ 2 = V2 23 x 2
= V2x(x +V2) + (x +2) = (x +V2) (V2x +1).
3x0 —x? —10x=x(3x2 ~x-10}
= x(3x% —6x+3x-10) = x [3x(x - 2) + 5 (x - 2)]
=x(x-2) 3x+5).
8a% —27ab+96% = 8a® — 24ab~3ab +9b*
=8a(a 25)-3b(a-3b)=(a—3b)(8a—3b).

6-x—x
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107. 16a* +54a=2a(8a’ +27) = 2ax[ (2a)’ +33]
=2a(2a+3) (4a* —6a +9).
108. (1-272)=[1* —(3x)]
=(1-3x) (1+3x+9x%).
109, (7a° +560%) = 7(a® +8b°) = 7[a3 +(2b)3]
=7 {a+2b) (a* —2ab+4b?),
110, (8°-0-064)=a’ —(0-4)
=(a—0-4)(a’* +0-4a+0.16)
M. a-8ab® =a(l-8k* =<,-[(1)3—(2b)3]
=a (1-2b) (1+ 2b+4b%).
112, 64x° -343 = (4x)° —(7)°
= (4x—7) (16x* + 28x + 49).
113, 32x* ~500 x = 4x(8x* —125) = 4xx[(21)3 - 53]
=4x(2x~5) (4x* +10x+25).
M4, @ +a-3a*-3=(a’-3a*+a-3)
=(a’ -3 +(@a-N=a*(a-N+{a-3)=(a-3) (@’ +1).
115. (x* +4)=(x* +4x*+ 4)—4x? =(x* +2)* - (2x)*
=(x? 424 2x) (x* +2-2x),
116. A1 (a+b)=x 99 {a-b)=y. W=
(@+b) —(a—b) =(x’ -y’
=(x=y) (" +xp+ p?)
=[(a+b)—(a—b)][(a+b)2+(a—b)2+(a+b)(a—b)]
=2b[2a2+2b2+a2—b2]=2b (3a* +b%).
7. 9 M a-b=x,b—c=y A9 c—a=z. &
x+y+z='0=:>x3+y3+z3=3xyz
= (a-b) +(b—c) +{c—-a)’ =3a-b){(b—c)(c—a).

2
8. x4+x2+25=(x2) +524+10x2 —9x?

= (7 +5) ~(30)? = (+* +5-3%) (¥ +5+3x)
119. (3’ —1-2a-a*)=x’-(+2a+a*)=x"—(a+1)?
=(x—a-D{x+a+l)

— e — — —— s —— — —— — —— — —— — — — — . — — — it — e — — —



